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aO-F i X £ T 3K % = it
001 | T & H Hr 507 569 647 1,216
002 | # K HT 623 720 769 1,489
003| £ &= H H 350 358 330 688
004 | & %  H 994 1,168 1,121 2,289
005 | X 33 T 743 912 949 1,861
006 | = & F B 1,319 1,774 1,674 3,448
007 | # 3! T 189 267 217 484
008 | 5 4 Hr 839 970 1,108 2,078
009 | K & HI 568 785 770 1,555
010 | & H i) 1,006 1,335 1,420 2,755
o1 | £ B F B 673 828 857 1,685
012 | &  H 874 1,125 1,284 2,409
013| 5, H i) 562 741 841 1,582
04| & ® H 881 1,108 1,170 2,278
015 | # B  H 121 159 183 342
061 | XEE—TH 54 54 21 75
062 | XEHEZ-TH 212 181 189 370
063| XEHE=TH 5 27 50 77
064 | XEHEMWTH 110 108 157 265
071 | &£%HAH—TH 35 28 40 68
072 | A%HABI_TH 266 273 230 503
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oK X F | HEK 5 = i
081 | M BT — T H 0 0 0 0
082 | ma BT — T H 25 645 46 691
083 | A BT = T H 166 187 208 395
091 | QLB —TH 87 87 111 198
092 | BT —TH 85 165 352 517
101 | P ET—TH 120 114 125 239
111 | FEHE—TH 112 114 126 240
112 | FSHEZTH 91 70 82 152
113 | FEHE=TH 142 129 133 262
114 | FHEHEMTH 88 101 106 207
115 | FEHEATH 148 113 162 275
116 | FHHEARTH 147 136 153 289
117 | LHHEETH 134 145 170 315
118 | FHHEI/NTH 138 137 157 294
121 | EBFHE—TH 80 77 80 157
122 | ERBFHIZTH 53 56 59 115
123 | EBFHI=TH 82 82 96 178
124 | EBFHIUTH 75 72 64 136
125 | EBFHEATH 101 104 120 224
126 | EBFHEIATHE 151 125 143 268
127 | EBFHETH 146 98 164 262

a8 F 13,102 16,247 16,684 32,931




